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L\ araphing Systems of Linear Inequalities

Do Now: On the set of axes below, graph the following system of inequalities on the same coordinate

plane. K\)S
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a) Label the solution set with the letter “s”. —=> _Ohe e  +he Shadin % ovenaps

b) State a solution that is in the Solution Set: (0 ‘m
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Steps for Solving Systems of Linear Inequalities

Solve both inequalities for y
Graph, shade, and label the each inequality

Label the intersection of shading “S” (if there is no overlap—no solution)
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Choose a point in the shaded region to check both equations!




1. On the set of axes below, solve the following system of inequalities graphically.
State and check coordinates of a point that is in the solution set. (OJ b
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2. On the set of axes below, solve the following system of inequalities graphically.
Gbgtige coordinates of a point in NOT in the solution set. (—- 6)\0
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3 Error Analysis: A student graphs the system below. Describe and correct the student s error. Then
label the “new” solution set.
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Writing: What is the difference between the solution of a system of linear inequalities and
the solution of a system of linear equations? Explain
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Partner Practice:

3. On the set of axes below, solve the following system of inequalities graphically.

y—4<—gx AN
3 A\ ' X "N TN NEEUAN
s b J VAV S\YA AVE WL NV
' QYR N NAVERN A %
Y< “Zxxy : AVINNENN AUNNENAENA
2 A NAN N \\):’l\ ALK i MLT -
Tk 7 \l NERNNENAW e 7——,
m:—_ "'_Z.‘_, \ f( )\( rd \ \ o
ot A ny; ALO LY
ST X %D 2 p //w\y/'(
&= N e X /, g
(0,1 Vi p2 I G A P S
./K\,X Y, / /) // / / * #hy
a. State a solution'that is ONLY in6y > 3x. MO V1AV /] A 1A LAY
, T = g 4 Z V 1/ AVIXIAVISY
i (thn e 4 \‘\ (0(5)"3(”'3 )‘ I >, / a / // _/ /
‘\\l\\% jqd-%k\_ P =12 Y 1AL /. A A VLAY
34 £-2(4) , o / 717 AV
: > = s, TRVE Y YA TV ITAAY 7 77
-1 42 XRlse g % v 7
b. State a solution that is ONLY iny—4<—§x. — / - // : // A 4 ///
B9 (3,0) v
Wy
by2 3K \
b33
DE9 x
/ false
/
4. On the set of axes below, sg-fce the following system of inequalities graphically.
00 State coordinates of a poirit that is in the solution set.
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